[[normalized x? probability ]

: L e 0.04
02 A 0.035

0.03f--r---renmimnnnnnnqnnny-|Eniies
Mean
Std Dev

Entries 5599
_ | ean 1019
Std Dev

107

Ll Hi Uu wmén!u
55 1o 17 14 16 1520 0'9"b 0. lhl"” ””” ” 0.7 “th‘ ”I
X2 Prob(xz)

1 ’ I

— DQM_old
= DQM_wrong
m—— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z_ RECO

< X2/ndf>
[N
o]

:+_:

ey

o
[o2]
T T [T T T[T [ T [T T

o
o0
S A

o
T
o
1
0.95%
A 2r A 2r
5 5 F
c F . . c 1.8
= 18f H H Ny E
< r N N < 1.6F
\ 1.6:— """" """"" i : vo1aF
1af- e CRPRPRRS : 1.2F
1 ¥
L 0.8
T 0.6F
0.8F- 0.4F
0 63__ 0.2F
e o e @&
SE 1.05F §
0.5
E
0.95 ob———
10™* 10 107

-1
AR(track, je}[g)



	Contents
	Page 1


